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Time : 3Hours] [Max. Marks : 80
Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Attempt any one from (a) and one from (b) in about 150 words each: [16]
a) 1) How did Kalam's father shape young Kalam's personality?

i)  What are the various ways suggested by C. V. Raman to conserve
water?

b) 1) How does Herman Wouk point out the pitfalls and the deceptions
of advertising?

i) Comment on the ending of 'The Gold Frame'.

02) Attempt any one from (a) and one from (b) in about 150 words each: [16]

a) 1) Describe Ivan Dmitritch's worries about his wife's behaviour after
winning the lottery.

i) How does the poet acknowledge the glory of the past Indian poetic
tradition?

b) 1)  Explain the appeal made by the poet to his fellow-beings to get
over the money madness.

i)  You have invited your teacher for a dinner. Introduce him/her to
your family members and vice-versa. Write a ten line dialogue.

03) Attempt any one from (a) and one from (b) in about 150 words each.  [16]

a) 1) Describe the chief principles and guidelines that have helped Indra
Nooyi to fulfill her ambitions.
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b) i)

According to N.R. Narayana Murthy, what are India's strengths
and weaknesses?

'"Toasted English' is a half-humorous and half-serious essay.
Comment on this.

According to N.R. Narayana Murthy, what were the ills of Licence
Raj?

04) Attempt any one from (a) and one from (b) in about 150 words each:  [16]

a) 1)  What changes does Gopalam's mother see in him as an adult?
i)  Why does Rakesh's father say "God is calling me-now let me go".
b) 1) How does the poem, 'Stopping by woods on a Snowy Evening'
describe a conflict in the mind of the narrator?
i)  Describe the poet's positive view of life in "The Soul's prayer'.
05) a) Attempt any one of the following;: [8]
1)  Write a thank you letter to your uncle who has sent you a birthday
gift.
i)  Write a brief news paper report of two short paragraphs on the
following headline:
Tree plantation Drive by NSS students
b) Attempt any one of the following: [8]
1)  Write a resume for the post of sales Executive in Tata consultancy
services, Pune.
i)  You have got admission for higher studies in a foreign University.

[5158]- 1001

Write an e-mail to the Manager of Bank of Baroda at the e-mail
address eduloanbob @ gmail.com requesting him to provide you
information regarding the Educational Loan facilities.
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Instructions to the candidates:
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

3) Use of calculator is allowed.

Q1) A) State whether the following statements are True of False (any five). [5]

1)  Maximum loss method is also known as proportionate capital
method.

i) In amalgamation of firm, assets and liabilities not taken over nor
sold can be transferred to Partner's capital account.

i) The firm may be converted into company to get the benefit of
additional capital.

iv) Accounting standard No. 1 deals with valuation of inventories.

v) The difference between minimum rent and royalty payable is known
as shortworkings.

vi) Under departmental accounts, legal charges are to be debited to
profit and loss account.

vil) The Hire purchase act, 1972 is applicable to the whole of India
except the State of Jammu and Kashmir.

B) Fll in the blanks by selecting proper word/s form the brackets (any five)
[S]
1)  Reserve fund is distributed among the partners in; their ...... ratio.
a) Capital
b) Profit sharing

c) purchase
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1v)

Vi)

vii)

Minimum rent is also called as rent.

a) down payment

b) optimum

c) rock

The basic objective of amalgamation of firms is to maximize
a) profit

b) trade

c) advertising

The debit balance of an insolvent partners capital account indicates

a) profit

b) loan

c) capital deficiency

Accounting standard No. 2 deals with
a) Disclosure of accounting policies
b) Valuation of inventories

c) depreciation

Under system, the legal ownership in the goods sold passes
immediately to the purchaser, as soon as he signs the contract.

a) hire purchase
b) instalment
c) none of these

Carriage outward is to be apportioned between the departments in
the ratio.

a) time
b) purchase
c) sales

C) Write short notes (any 2) [14]

)
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Objectives of amalgamation

Methods of purchase consideration

Hire purchase system

Accounting standard No. 9 revenue recognition.

2-



02) P, Q, and R were partners in a firm sharing profits and losses in the ratio of
1:2:1 respectively. They decided to dissolve the firm on 31% March, 2014 on
which date their balance sheet was as follows-

Balance Sheet as on 315 March, 2014

Liabilities Amount Assets Amount
Rs. Rs.
Capital Accounts Fixed assets [1,40,000
P 72,000 Stock in trade| 80,000
Q 1,4,000 S. Debtors 40,000
R 32,000 Cash in hand | 20,000
Sales Tax 10,000
S. Creditors 30,000
Reserves 32,000
2,80,000 2,830,000

The assets were realized gradually and the distributions were made as and
when cash become available. The realizations made in 2014 were as follows-

25" April, 2014 Rs. 42,000/-
15" May, 2014 Rs. 16,000/-
10" June, 2014 Rs. 12,000/-

Realisation expenses were estimated at Rs. 6,000/- but in june, 2014 the actual
expenses amounted to Rs. 2,000/-

R became insolvent and could contribute Rs. 2,000/- only from his private
estate. Prepare a statement showing the distribution of cash as and when
realized among the partners so that the effect may be given to the ruling in
Garner V/S Murray Case. [14]

OR

A and B were partners sharing profits in the ratio of 2:1 where as C and D
were partners sharing profits and losses in the ratio of 3:2. The two firms
decided to amalgamate on which date the Balance Sheets of the two firms
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were as follows-

Balance sheets as on 31% March, 2014

Liabilities A&B |[C&D | Assets A&B| C&D
Rs. Rs. Rs. Rs|
Capital Accounts Building -- 84,000
A 72,000 | -- Plant & Machinery 80,000 50,000
Furniture 20,000
B 36,000 | 80,000 | Patterns & Moulds 6,000 | 16,000
C - 60,000 | Stock 40,000 10,000
D - 60,000 | S. Debtors 24,000 30,000
Creditors 50,000 -- Cash in Hand 10,000 22,000
Mrs, A's Loan 20,000 7,800
Bills Payable -- | 18,000
Outstanding rent | 2,000 1,800
1,80,000(2,19,800 1,80,000 2,19,800

Following are the terms of amalgamation-

i)
if)

Vi)

vii)

Outstanding rent was pain by respective firms.

Furniture of both the firms was not to be taken over by the new firm. A
& B sold their furniture for Rs. 24,000/- and C & D sold their furniture
for Rs. 14,000/-

Patterns and Moulds of both forms were not taken over by the new firm
and distributed in profit sharing ratio.

Building was valued at Rs. 90,000/-

Stock of A and B was undervalued by Rs. 4,000/-. but stock of C and D
was overvalued by Rs.6,000/-

Debtors of A and B include bad debts Rs. 4,000/- Debtors of both the
firms were taken by new firm subject to 5% reserve for doubtful debts.

Mr. A agreed to pay off Mrs. A's loan.

Prepare revaluation account, partner's capital accounts inthe books of both
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the firms and to prepare amalgamated Balance sheet in the books of new firm
as on 1% April, 2014.

03) A) X,Y and Z were partners sharing profits and losses in the ratio of 2:2:1
respectively. The Balance sheet of the firm as on 31% March, 2014 was
as under [8]
Balance sheet as on 31% March, 2014
Liabilities Amount| Assets Amount
Rs. Rs.
Capital Accounts Building 15,000
X 15,000 | Plant & Machinery 9,000
Y 14,000 | Motor Van 6,000
Z 8,500 furniture 1,250
s. Creditors 12,000 | Stock 2,350
Bills Payable 750 S. Debtors 13,000
General Reserve | 3,000 Investments 3,000
Cash at Bank 3,650
53,250 53,250

The partners of the firm decided to dissolve the firm and to convert their firm
into A Ltd on the above date subject to the following adjustments-

i)

1v)

A Ltd. agreed to take over the following assets at valueds shown below-
Building Rs. 16,000/-

Plnat and Machinery Rs. 8,250/-

Furniture Rs. 1,000/-

Stock Rs. 3,000/-

Goodwill Rs. 2,000/-

S. Debtors subject to 5% R.R.R.

The Company has also agreed to take over S. Creditors at Rs. 11,000/-

The purchase consideration was paid by the company by issuing sufficient
number of equity shares of Rs. 100/- each fully paid at par.

The firm sold investments for Rs. 4,000/- and paid off bills payable
fully.

The Motor Van was taken over by X at book value.

The firm paid realization expenses of Rs. 400/-

Calculate Purchase consideration and prepare Realisation Account.
[S158] - 1002 -5-



B) X Ltd. took a mine on lease from the landlord Y Ltd. for a period of 10
years beginning from 1% January, 2011. The terms of the lease are as
follows-

i)  To pay minimum rent of Rs. 32,000/- per annum.

i) Each year's excess of minimum rent over actual royalties can be
recovered during the next two years.

i) In any year due to accident or strike the actual royalty is less than
minimum rent, it is to be reduced by 25% for that year.

iv) Royalty is to be calculated at Rs. 0.75 per ton.

v)  The output was as follows-

Year | Output(in Tonnes)

2011 | 24,000

20121 32,000

20131 56,000

2014| 40,000 (strike for three Months)

Pass necessary Journal entries in the boos of X Ltd. for four years. [14]

04) Ram Ltd. purchased a Machinery on Hire Purchase system on 1% January,
2012 from M/s. Sham Brothers. The cash Price of the Machinery was Rs.
80,000/-.Ram Ltd. paid Rs. 200,000/- on signing of an agreement and the
balance in three annual instalments of Rs. 20,000/- together with interest @
12% per annum on balance outstanding of cash price. Every year books of
accounts were closed on 315 December. Depreciation was to be written off
@ 15% per annum on written down value method. [20]
Prepare Machinery Account, M/s. Sham Brothers Account, Depreciation
account and interest account in the books of Ram Ltd. and give Journal
Enteries in the Books of M/s. Sham Brothers.

OR
From the following Trial Balance as on 31 March, 2014 of Ganesh
Departmental Stores, Delhi, Prepare Departmental Trading Account, Profit
and Loss account for the year ended 315 March, 2014 and a Balance Sheet as
on that date. [20]
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Trial Balnace as on 315 March, 2014.

Particulars Debit Amount| Credit Amount
Rs. Rs.

Capital - 61,800

Drawings account 8,000 ---

Stock on 1% April, 2013

Dept. A 30,000 ---

Dept. B 24,000 ---

Purchases

Dept.A 56,000 -

Dept.B 48,000 -

Sales

Dept.A --- 1,20,000

Dept.B --- 1,00,000

Wages

Dept.A 15,000 ---

Dept.B 5,000 -

Rent, Rates, Taxes and

Insurance 18,000 -

Sundry Expenses 6,000 ---

Salaries 6,000 -—-

Lighting and Heating 3,600 ---

Dicount allowed and

Received 4,400 2,600

Advertising 7,200 ---

Carriage Inward 4,200 ---

Furniture 6,000 -

Machinery 40,000 -

S. Debtors 12,000 -—-

S.Creditors -—- 32,000

Cash in Hand 20,000 -—-

Cash at Bamk 3,000 -—-
3,16,400 3,16,400

-7-

[5158] - 1002




Following additional information is also provided-
i)  Dept. A transferrd goods to Dept. B Rs. 800/-

i) Rent, Rates, Taxed and Insurance, Sundry Expenses, Lighting and
Heating, Salaries and Carriage inward to be appropriated 2/3 to Dept. A
and 1/3 to Dept. B

i) Advertising to be apportioned equally.

iv) Discount allowd and Discount received are apportioned on the basis of
departmental sales and Purchases (excluding transfers).

v) Depreciation (@ 10% p.a. on Furniture and Machinery is to be charged
3/4 to Dept. A and 1/4 to Dept. B

vi) Closing Stock as on 31.03.2014 is ---
Dept. A Rs. 33,000/-

Dept. B Rs. 24,000/-

[S158] - 1002 -8-
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Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Draw neat diagrams wherever necessary.

Q1) Define indifference curve. Explain the characteristics of indifference curve.[16]

02) Explain the Law of variable preparations with suitable diagram [16]
OR

Define Business Economics. Explain in detail the scope of Business Economics.

03) Answer in brief. [16]
a) State the features of perfect competition.
b) Explain the marginal productivity theory of distribution.
OR
a) State the Dynamic theory of profit.
b) Explain the backward sloping supply curve.

Q4) State the Ricardian theory of rent. [16]
Q5) Write short notes on (Any Two) [16]
a) Price discrimination
b) Motives of liquidity preference
c) Features of oligopoly

d) Collective Bargaining
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BUSINESS MATHEMATICS AND STATISTICS

(2013 Pattern)
[Max. Marks : 80

Instructions to the candidates:

1)
2)
3)
4)

01) A)

All questions are compulsory.

Figures to the right indicate full marks.

Use of logarithmic tables and calculator is allowed.

Both the sections should be written in the same answer-book.

SECTION -1

Answer each of the following multiple choice questions by selecting
correct option from the given options. (Any four) [4 x1 =4]

)

1v)

Mr. Akash spends 75% of his monthly salary and saves Rs. 14500
per month. Then his total monthly salary is

a) Rs. 50,000 b) Rs. 58,000

c) Rs. 40,000 d) Rs. 58,500

4 x 4°="7

a) 4% b) 28

c) 4 d) None of these

What is the greatest number which when divides 3461 and 9382
leaves remainder 10 and 15 respectively?

a) 943 b) 394

c) 493 d) 349

The LCM of the 31 and 71 is

a) 1 b) 51

c) 2201 d) None of these

The Ratio between the marks obtained in Accountancy by Anil and
Sunil is 4: 5 if the difference between their marks is 8, how many
marks they are marks obtained?

a) 32and40 b) 42 and 48
¢) 30and40 d) None of these

PT.O.



vi) A student scored 546 out of 600 marks, his percentage is
a) 915 b) 90

c) 90.5 d) None of these

B) Answer the following multiple choice questions by selecting correct option
from the given options. (Any Two) [2 x 2 =4]
. 2 3_
1) ET 4 = ..
a) 89 b) 1/1
c) 6/12 d) None of these

02) Attempt any TWO of the Following:

i) Miss Kajol started her business by investing Rs. 50,000. After 4
months Sachin joined her with an investment of Rs. 40,000. If they
make a profit of Rs. 69,000 at the end of the year, Sachin’s share in
the profit should be

a) Rs. 28,000 b)

Rs. 32,000
c) Rs. 30,000 d) Rs. 24,000
i) The mean proportional to 4 and 16 is
a) 64 b) 8
c) 4 d) None of these

[2x4=8]
At what rate will the sum of Rs. 50000 becomes Rs. 70000 in 5 years at

What sum will amount to Rs. 4764 in 3 years at 6% p.a. compounded

a)

simple interest.
b)

interest?
C)

03) Attempt any FOUR of the Following:

Sahib holds 300 equity shares of Rs.10 each of a company. The company
issues bonus shares in the ratio of 5: 3. The company declared dividend
of 15% on the enlarged capital. How much dividend will Sahib receive?

[4 x 4 = 16]

a) Explain the terms "Population' and 'Sample’'.
b) Explain the exclusive method of classification with illustration.
c) From the data given below, prepare frequency distribution and the more
than cumulative frequency distribution:
Labour Hours | Below | Below | Below | Below | Below | Below
20 30 40 50 60 70
Output (Units) 15 35 72 108 126 130
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d) Following is the distribution of families according to their income groups.
Calculate Arithmetic Mean.

Income Rs.('000") |0-10 | 10-20| 20-30 | 30-40| 40-50 | 50-60 |60-70
No. of Families 12 16 20 24 14 08 06
e) Draw ahistogram for the following data.
Class 31-40 | 41-50 | 51-60 | 61-70 | 71-80 | 81-90
Frequency 12 30 44 62 34 18

Following is the frequency distribution of turnover made by 95 Mobile
Shops during a month:

Turnover (Rs.000) |10-20| 20-30 | 30-40 | 40-50 | 50-60 | 60 & above
No. of Mobile shops | 12 23 47 08 03 02
Answer the following :
1)  State the type of classification.
ii)  Obtain class marks of 4 Class.
i) State the open end class.
iv) How many shops have sales less than Rs. 500007
SECTION - II
04) Attempt any THREE of the Following: [3 x4 =12]

a)

b)

d)

A Computer set is sold for 42240 resulted into a loss of 12%. Find its
cost price.

A Commission Agent obtains 5% commission on the sale of a book
costing Rs. 1080 each. During a month, he received Rs. 17820 as a
commission, find how many books are sold by him?

Define the Terms ‘Feasible Solution’ and ‘Optimal Solution” with respect
to LLP.

Solve the following L.P.P. using graphical method
Minimize Z =4x + 3y
Subject to constraints

x+2y<6

x>2

y<3

y=>0
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05) Attempt any THREE of the Following: [3 x4 =12]

a)
b)

C)

d)

Define the term 'Bonus Shares'.

The cost price of an Article is Rs. 76800. How much it should be marked
so as to earn 25% profit after allowing 4% trade discount?

A small firmer builds two types of garden shed. Type A requires 2 hours
of machine time and 5 hours of craftsman time. Type B requires 3 hours
of machine time and 5 hours of craftsman time. Each day there are 60
hours of machine time and 80 hours craftsman time available. The profit
on each type of A shed is Rs.160 and each type of B shed is Rs. 184.
Formulate L.P.P. assuming that all garden sheds are sold.

A salesman is paid a fixed amount of salary plus a commission as a
percentage of sales. In two consecutive months his total earnings of
Rs.15780 and Rs. 17420 on the sales of Rs. 122800 and Rs. 139200
respectively. Find his monthly salary and rate of commission.

06) Attempt any FOUR of the Following: [4 x 4 =16]

a)

b)

d)

Compute range and its co-efficient from the following distribution.

Income tax paid[150-160| 160-170 [ 170-180 | 180-190 [ 190-200
(Rs. 000)

No. of Firms 22 18 15 60 34

The daily temperature recorded in a City in 2015 is given below. Calculate
Standard deviation.

TemperatureC® | 45-40| 40-35 | 35-30 | 30-25 | 25-20| 20-15 | 15-10

No. of days 75 65 60 80 55 25 05

The ranks given by two judges to ten competitors in a Fashion Show at
Pune in the following order.

Judge-1 |1 |6 5] 10| 3 |2 4 |[9]| 7|8

Judge-1I |3 | 5| 8| 4 |7 |10 2 | 1] 6 |9

Calculate Spearman's rank correlation co-efficient.
Write a Note on SENSEX and NIFTY

You are given below the information about advertising expenses and
sales:

Advertising Exp. Sale
(Rs. Lac.) (Rs. Lac.)

Arithmetic Mean 10 90

Standard deviation 3 12

Correlation Co-efficient between the two 1s 0.8.

Calculate the regression equations.
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f)  Calculate price index number by using Fisher’s Method.

Commodity Base Year Current Year

Price Qty Price Qty
A 21 15 20 17
B 70 10 75 12
C 60 14 62 15
D 32 10 30 10
E 36 12 38 08

07) Attempt any ONE of the Following: [1x8=8]

a) Calculate co-efficient of correlation from the following data.

Fertilizer used (tones) | 15 | 18 | 20| 24 | 30 | 35 | 40 | 50
Productivity (Tones) | 85 | 94 | 95| 108 | 122 | 130 | 150 | 160
b) 1) Two workers on the same job show the following results over a

long period of time:
Details Worker X Worker Y
Mean time of completing the job (Minutes) 30 25
Standard deviation (Minutes) 06 04

1)  Which worker is more consistent in time to complete the job?
1)  Which worker is faster in completing the job?
II) State the meaning of 'Scatter Diagram'.

SISIS

[5158]-1004 5



Total No. of Questions : 6]
P808

SEAT No. :

[Total No. of Pages : 4

[5158]-1005
F.Y. B.Com.
COMPUTER CONCEPTS AND APPLICATIONS
(Computer Fundamental)
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Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1)  All questions are compulsory.
2)  Figures to the right indicate full marks.
3)  Both sections should be written in same answer books.

SECTION -1
Q1) Attempt any four of the following : [4 x 2 =8]

a) Define computer

b) Define operating system

¢) How to create table in MS-Word
d) Whatis file and record?

e) What is modem?

f)  Define E-commerce.

02) Attempt any four of following : [4 x 4 =16]
a) Differentiate between RAM and ROM.
b)  Write features of MS-Excel
c¢) Explain functions of operating system
d) Write a short note on wireless network
e) Explain Index file organization

f)  Explain characteristics of computer.

PT.O.



03) Attempt any four of the following : [4 x 4 = 16]
a)  What is open source software? Give example
b) Differentiate between application software and system software.
¢) What are the components of network
d) What are the Advantages and disadvantages of MS-Word.
e) Explain computer application in
1)  Personnel administration
1)  Stock broking
f)  Write note on control-panel

SECTION - II
04) Attempt any four of the following : [4 x 2 =8]
a) Define web browser.
b) Define financial electronic data interchange
c¢) What do you mean by secure electronic transaction.
d) Write attiribute of table tag
e) What is static web page?
f)  Define cyber law

05) Attempt any four of following : [4 x 4 = 16]
a)  Write short note on Internet evolution.
b) Explain technology involved in EDI
c¢) Explain any two types of electronic payment
d) How to create hyper links
e) Explain web development process model
f)  Write note on animation effect in web pages

06) Attempt any four of following : [4 x 4 =16]
a) How does www works?
b) Explain advantages and disadvantages of EDI.
¢)  Write short note on smart card
d) Explain dynamic web page
e) Explain text formating tags.
f)  How to upload a websites

SISIS
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31) Computer < ST Gl
&) Operating System < =awEa g=n
&) MS-Word 6@ Table AT TehR TER el STl ?
g) File anfot Record wgu= & ?
) Modem WU ®E?

%) E-commerce <t sarEan =0

T972)  UEicTUehl hIvTAEl TR U9 |l [4 x 4 = 16]
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97 3)  WIelicidehl ShivTdg SR I9 |ga. [4 x 4 = 16]

Open Source Software TEUTS HIE ? 3QTE0T .
Application software 3ot System software Hfie Wieh TI&e .

Network @ Components fetar.
MS-Word = w2 fuT die s 31ga o foran.
@reiier Computer = Applications fergr

1)  Personnal Administration

1) Stock Broking

Control panel =R ¢ fergt.

A - 11

g7 4)  Welicidehl SHivTdg S) T9 dga. [4 x2=8]

Web browser Ul /I ?

Financial Electronic Data Interchange <t e o=,
Secure Electronic Transaction TguTrs i ?

Table tag = attribute fetar.

Static Web Page wgurt % ?

Cyber Law <t =ame g=n

97 5) Wieiicidehl ShivTAEl TR 99 digdl, [4 x 4 =16]

Internet = 3 =mer U foran.

EDI wgiiet Technology e .

Electronic Payment & 3 TR TU 1.
Hyperlinks S¥aTIehR sheft d o T .

Web Development Process Model ¥oee &1.
Web Pages mefid Animation effects =R ia ferar.

97 6) WIAdehl HIUTAEl TR T9- Higdl, [4 x 4 =16]
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Instructions to the candidates :

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define office. Explain functions of modern office. [16]

Q2 ) Define the term "Time Management'. Explain the principles of Time Management.[16]
OR
Define Office Organisation. Explain the various principles of Office Organisation.

03) a) State the advantages of online forms. [8]
b) State the procedure of Handling outward mail. [8]
OR

a) State the methods of Indexing.
b) State the process of Records management.

Q4 ) Define Public Relation. Explain various modern methods of Public Relation.[16]

Q5 ) Write short notes (any two) : [16]
a) Elements of office communication
b) Barriers to effective communication
c) Types of modern appliances used in modern office
d) Accounting packages

SISIS



Total No. of Questions : 5]

P809
[5158]-1006
F.Y. B.Com.
OFFICE MANAGEMENT
Organisational Skills Development
(2013 Pattern)
(TSt ®UTHR)
de - 3 ara] [T T - 80
geAar ;- 1) §d v QIEfavt savees 38,
2) IHiREe 3ish TR guf T gvifaaTd.
3) deardt ges sul gyl agrE,
gyr 1) wEeEr e o sy wEieEr wE T w. [16]
g7 2) AP AR 1 Hehou-el ST forgl. Jaean sHaeuHT=h ded Tase . [16]
feran
‘TR Gued’ a1 Heheu-<il ST .
HATAT ToeA= fafae ae T .
97 3) &) I-uuEr W for [8]
) Eh UHeHaE ATeUaTe Ueadl TUee . [8]
feran
)  GRoeRuTen UsEHt T .
¥) TR STAETIATE ShEUEd Tase .
TvT 4)  ‘SHEUSh A GeheuHl SaTEAl oTgl. STHEushieAn Y shrusgdl e . [16]
o7 5) fm fomn. (wiorad 3M) [16]

) HEHH HIEEATS Teh

g)  TUTE! GV JISUB

F) INYFF HETEEAH TRV UM LA THR
g) 3RS Uehaid (Accounting Packeges)
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Total No. of Questions : 5] SEAT No. :
P810

[Total No. of Pages : 2

[5158]-1007

F.Y. B.Com.
BANKING AND FINANCE
Fundamentals of Banking

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates :

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Bank. Explain the evolution of Banking in Europe. [16]
02 ) Explain the methods of remittances. [16]
OR

Explain the primary functions of Bank. [16]
03) a) Explain the characteristics of bill of exchange. [8]
b) Explain the types of Endorsement [8]
OR
a)  State the principle of liquidity and safety. [8]
b) Explain the types of crossing. [8]
Q4) Explain the need and importance of technology in Banking. [16]
Q5 ) Write short notes (any two) [16]

a) Types of cheques

b) Concept of Core Banking

¢) Limitations of Multiple Credit Creation
d) ATM (Automated Teller Machine)

SISIS

PT.O.



Total No. of Questions : 5]

P810
[5158]-1007
. EF.Y. B.Com.
Tk STTA™ 30T |<\'=|?|3!3|3|
ek SHSTHTAT Hetdedl
(2013 Pattern)
(|3t ®UTAR)
d : 3 ad] [T U7 - 80
gaar ;- 1) @d 597 Aisfan srEavae Jrd.
2) SiHiREieT 3% gut o7 FIifaard.
3) Hewlardt gw Uit Gyaliest ugrE.

o7 1) <oheil SATEAT Sol. JUUTAIC sich SATETAT Seohicl TS Tl [16]
yy72) U9 ursfouaTesn vt TR . [16]
feman

kel TTATHeR R e . [16]
g 3) ) fafma v ahns we w0 [8]
q) USRS TR T L. [8]
feran
) A AUt YRIATAAT ded |, [8]
F) TS THR T H. [8]
g7 4) Sk STTETTNA AT TR ST Hged TS . [16]
gg7 5) Row o (wivead@ am) [16]

)  YARITE THR

d) HISR ST Heheddl
%) Sl uatiiHde waia
) TEEEld TR O

SISIS
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Total No. of Questions : 4] SEAT No. :
P811

[Total No. of Pages : 4

[5158]-1008
F.Y. B.Com.
COMMERCIAL GEOGRAPHY

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.
2)  Neat diagrams must be drawn wherever necessary.

3)  Use of map-stencils is allowed.

Q1) Answer the following upto 20 words each. (Any Ten) [20]
1)  Write the definition of Commercial Geography.
1)  State any two names of Secondary Economic Activity.
i)  What is meant by Wind Energy?
1v) State any two names of trees in Equatorial Forest.
v) State any two disadvantages of over Population.
vi) State any two names of crops in plantation Farming.
vi) State any two names of non-conventional Energy Resources.
viii) Name any two centers of Cotton-Textile Industry in India.
iX) State any two disadvantages of Road Transportation.
Xx)  Write the definition of trade.
xi) State any two disadvantages of choropleth method.
xil) State any two products that are imported by India.

xii)) Mention any two Industrial Regions of India.

PT.O.



02) Answer the following upto 50 words each. (Any Two) [10]

a) Nature of Commercial Geography
b) Possibilism
c¢) Bar Graphs
d) Agro-Tourism
03) Answer the following upto 150 words each. (Any Two) [20]
a)  Explain the factors of Physical Environment
b) Explain the population characteristics of India.
c) Compare the Road and Railway Transportation.
d) Explain the factors affecting Industrial Location.
04) Answer the following upto 300 words each. (Any Two) [30]
a) Explain the main types of Farming.
b) Explain the various approaches to study the commercial Geography.
c) Give an account of Geographical factors influencing tourism.
d) Explain the Geographical factors affecting International trade.

SISIS
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Total No. of Questions : 4]

P811
[5158]-1008

F.Y. B.Com.
COMMERCIAL GEOGRAPHY
(2013 Pattern)
(A3 ®aTaR)
d : 3 ad]
gedr :— 1) §d go7 qistan sravaes o

2) arg e SRt Gask ke Fiel.
3) TN RfHeq arRuard Warit 3.

[T 701 - 80

o7 1) el gl g 20 vedd I e (g ga)
) AT e s fo
i) Tt Sofrem S 2w sl sEEwETh AR R,
i) T I U T ?
iv) ToqaeRia SRuAiiicl SHIvTETE g getreh Ar |
V) ATk FieheEa ShivTdEl g die an.
Vi) UesAITed Vdidiel hicargt 9 fuehi=ht ara @,
Vi) STURUTRER IS UG S id |
vili) ST Gt e ST S shgre AT @i,
iX) T AR HIVAE G Al A,
X) AR se o
Xi) DRI SH e R,
Xii) ST AT FIUTH SHIVTATE S Iedre |
Xiil) WRATHSA 1 3N Tl e TR,

[20]



a9 2)

97 3)

97 4)

WA T SRt 50 vregm S foret. (Hiumd dH)
) AUH YA e,

9) IedEE.
®) WU
g) HN-UTe.

Tt et Teht 150 vieam I forgn. (g M)
) TR UHTERUTY Heeh Ta .
) R ARECEAH AT T A

F) T ST od ATEhIEl orT .

T) SHTUSATAT TATHRIHIUTER TRUMTH U U2 T .

wretier ATt geEht 300 wiegm I forgn. (gt 39)

) I &I TR T H.

q) =W e fafay svaraueed TR .

) UHSATSR TRV ST HiTlifeTeh Teshial Jid &l

) SIS SITURTER URUTH ShUTR Wil U2 TIee .

SISIS

[5158]-1008 4

[10]

[20]

[30]



Total No. of Questions : 4] SEAT No. :

P812 [Total No. of Pages : 4

[5158]-1009
F.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT
Defence Organization and Management in India

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in 20 words each (any ten) : [20
1) Define Defence Mechanism.
1) What do you mean by supporting arms?
)  Write any two functions of EME.
1v)  State the meaning of integrated defence.
v)  Write any two limitations of armored corps.
vi)  Define artillery.
vii)  Define Sea- power.
viii)  Define operational planning.
iX)  Define Grand strategy.
x)  What do you mean by Military industrial complex?
xi)  Write any two functions of Territorial Army.
xii)  Write any two limitations of Defence management.

xii))  Write any two functions of signal corps.

PT.O.



Q2) Answer in 50 words each (any two) : [10]
1) Discuss role and functions of army medical corps.
1) Discuss functions of Ministary of Defence.

)  Explain the role and limitations of infantry.

Q3) Answer in 150 words each (any two) : [20]
1) Explain role of Air-power during war and peace time.
11) Explain India’s second line of defence.

i)  Discuss powers of President in relation to the Armed forces.

04) Answer in 300 words each (any two) : [30]
1) Discuss the role of Naval power in national economy.
1) Explain higher Defence organization in India.

i)  Explainrole of Administrative services in national defence.

SISIS
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Total No. of Questions : 4]

P812
[5158]-1009

F.Y. B.Com.
DEFENCE BUDGETING, FINANCE AND MANAGEMENT

Defence Organization and Management in India

(2013 Pattern)
(WSt FATR)
d% - 3 a|] [T 7T - 80
e o - 1) @ g7 qisfa smavae s,

2) IeteREier 3k qut o7 gvifaar.

gg7 1) 20 viegE SW . (RIUTAE T8T) [20]
1) ‘oo dehfAem” =ame <=
i) @O A U i ?
iii) 3.um.3. <t SRURE I HE TG HA.
iv) g<nes fea o 31ef Fog .
v) Terradiaeren | gn aier g 1.
vi) “AEEEr’ SanEE = .
vil) ERR amed sanen .
Viii) STRIH AT SaTEn .
iX) g TSl sarE g,
X) fuelicd Seediue swirucied U %@ ?
Xi) SR AATGEATEH VAT S T e 7
Xil) EREIUT STEREATIATAT VTS S TSl T .
Xiii) et shiee (Fueha=um) = SRIvTaE! g i forat.



go72) 50 vegm IW . (R ) [10]
i) ol afewe shivan it foT st areTad @t .

1) TRIUATAATSA ShEiaTEd Tt o,
iii) UTEEET YRt TUT HAiET TR .

g973) 150 vream@ SW . (SKIUTaE 3H) [20]
i)  Jeg 3MivT Tl HIEST gaTsaet et Tse .

ii) WRATE gEEm TAEATTEe G a6 .
iil) TYr VTGS HeHTd HRATSA WU SRR Tt .
gs74) 300 veem@ SR A1, (RIUTE gF) [30]
i) U AUATEddie ATerehaetea WHh S Tl .
1) YRATIA STRAN S0 oA Ta .
iii) wda ererowEel fafae vomadE e e Toe w.
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Total No. of Questions : 5] SEAT No. :

P813 [Total No. of Pages : 2

[5158] - 1010
F.Y. B.Com.
CO-OPERATION

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the principles of Co-operation adopted by International Co-operative
Alliance. [16]

Q2) Define the term "Co-operation". State the Nature and Scope of Co-operation.
[16]
OR

State the contribution to the Development of Co-operative Movement in
India of Dr. Verghese Kurien and Dr. Dhanjayrao Gadgil.

03) a) Describe the objectives of Co-operative Education and Training.  [8]
b) Explain the Co-operative Training arrangement in India. [8]
OR
a) Discuss the Role of National Cooperative Development Corporation.
b) Explain the Future Trend of Co-operative Movement in India.

Q4) Explain the strength and weakness of Co-operative Movement in India. [16]

05) Write Short Notes (Any Two) : [16]
a) Gorewala Committee Report 1954
b) District Cooperative Board
c) Types of Rural Co-operatives
d) Government and Co-operative Movement

SISIS



Total No. of Questions : 5]
PS13 [5158] - 1010
EF.Y. B.Com.
CO-OPERATION

(2013 Pattern)

(TSt wUTR)
aw : 3 ard] [T 9T - 80
geAr .- 1) @d 997 Qisiaur Jravaes g,

2) ITEIREIT 37 TS QUT T FOIfAATA.
3) dewlardt yw U<t Yyulaent ugTet.

T 1)  ATAEE HEET HHe TwRee AgwnTe e TE . [16]
gy7 2) ‘OgeR IO Gyl SATEAl O, Ugehel TEaEY U SITHT |, [16]
fema
YRATATA Tgehl Tadeiean fawmmed e, afife e onfor f. sHeaa
g7 3) ) wEwnl Brgur smfor wivrenmean sfewr auiq w0, [8]
) HRATATA TgehRl TTITETUT STaET TIY . [8]

feRan

) uPE "genl faeamgmgsrean [N.C.D.C| qith=it == .
) WRATAA TghRl Gga@il AfTHhTe qeard T &,

97 4) WRATATA ATl ABasiel ToredTd TUT qaeTedT™ 8 . [16]
gyq 5) g four forgn. (vt ) [16]
) TRETE At argarer 1954
a) Foew wewrt wsw

®) UTHUT TR TEATA ThR
) ITEA SATUT AEhK ABaD
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Total No. of Questions : 5] SEAT No. :

P814 [Total No. of Pages : 2

[5158] - 1011
F.Y. B.Com.
MANAGERIAL ECONOMICS

(2013 Pattern) (Theory)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) State and explain the scope and characteristics of managerial economics.[16]

02) Define elasticity of demand and explain the types of elasticity of demand.[16]
OR
Explain the methods of business forecasting.

03) a) Explain the law of supply. [8]
b) Explain the law of variable proportions. [8]
OR
a) State usefulness of capital budgeting.
b) Explain the investment decision for modernisation.

04) Explain the role of Multinational corporations. [16]

Q5) Write short notes (any two) [16]
a) Aquisition
b) Payback period
c) Average Rate of Returns

SISIS
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Total No. of Questions : 5]

P814 [5158] - 1011
EF.Y. B.Com.
THEEATIH I NI
(2013 Pattern) (Theory)
(R TUTR)
d - 3 ad] [Tt 707 - 80

gear ;g 1) 9d 9yd HEavasE Sied.
2) SEiREIT 3% TvAra gut Tur gvifeard.
3) dgurarst gm Ut gyTufisT ugre.

g7 1) AR v T g Sfesest T @ we . [16]

g7 2) WNUiE daruehdel sareat fogt @ unmiiesn dafede IR e w10.[16]
e
FEETET YA Ugdl TIE .

g9q 3) ) UEsurn HEw wE . [8]
q) ot gHmen FEm e . [8]
feRan
H) WITTATAT HET Iughal fa91g .
F) NYFHHIRITHEE! Taaus FHuia Tug &

T 4) SEOEE ugEEETEl YiHe g . [16]

gg7 5) enswm few fog (S a19) [16]
) ez (FurEa)
q) UEArEl &iD
®) GUEd UArEn R®
) wd fasa3wm
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Total No. of Questions : 5] SEAT No. :

P815 [Total No. of Pages : 1

[5158] - 1012
F.Y.B.Com.
ESSENTIALS OF E-COMMERCE

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

3) Give illustrations wherever necessary.

Q1) Whatis E-ticketing? Explain Airline online booking system in details.  [16]

02) What is E-marketing? Explain impact of e-commerce on market. [16]
OR
Explain working of EDI. Explain EDI components in details.

03) a) Explain the different types of E-commerce in detail. [8]
b) Explain the following term. [8]
1)  Mobile commerce
i)  Encryption

OR
a) Define banking compare traditional v/s E-banking. [8]
b) Define social & Ethical issues in E-commerce. [8]

04) Explain E-commerce in India. Explain problems & opportunities in
E-commerce in India. [16]

05) Write Short Notes (any two) [16]
a) E-Payment
b) E-Finance
c) Digital signature
d) E-Trading

SISIS)



Total No. of Questions : 5] SEAT No. :

P816 [Total No. of Pages : 2
[5158] - 1013
F.Y. B.Com.
INSURANCE AND TRANSPORT

(2013 Pattern) (Regular)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) What is Insurance? Explain the need of Insurance. [16]

02) Whatis Transport? Explain the advantages and limitations of Air Transport.[16]

OR
What is General Insurance? Explain the opportunities in General Insurance
business.
Q3) a) State various hazards in logistics. [8]
b) Explain the scope of tourism. [8]
OR

a) Explain the advantages of Rail Transport.
b) Explain the need for social security.

Q4) Explain the role of tourism in economic development. [16]

Q5) Write short notes (Any Two) [16]
a) Principles of Insurance
b) Types of business risk
c) Career options in Travel and Tourism
d) Role of insurance in logistics

SISIS



Total No. of Questions : 5]

P816 [5158] - 1013
EF.Y. B.Com.
femn arion atggeh
(2013 Pattern) (Regular)
(R TUTR)
d - 3 ad] [Tt 707 - 80

et~ 1) G 997 Qieaut HEayas 3.
2) SoidicRgleT 3k Y9I qUf IuT FoifaaTd.

gg7 1) fom o wm@e forarh WS e @ [16]
9T 2) SR TEUTS hid? gATS ATEqehial WIbe STIUT WSl T . [16]
e
TYROT o FPo wrE e T o sHeEETdie Geft TuE .
g7 3) 3H) CANICHATRIA TSUAB T, [8]
q) AT ST T . [8]

fRen

H) T AER TES T .
F) TN GUATAAHTSS TRt T8 .

uod 4) e faermamed udersh uftem we . [16]
v 5) W TR (SR gF) [16]
H) T

F) AEEIRE Y YRR
%) UHeATA iR
g) wifaiiesnsd fomam=h e
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Total No. of Questions : 5] SEAT No. :

P817

[5158]-1014
F.Y. B.Com.

[Total No. of Pages : 2

MARKETING & SALESMANSHIP

(Fundamentals of Marketing)

(2013 Pattern)
Time : 3 Hours]

Instructions to the candidates :
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Explain the various types of Market.

02 ) Explain the factors determining buyers behaviour.
OR
Explain the various methods of pricing.

03) a) Explain the importance of Marketing Management.
b) State the features of services.
OR
a) Discuss on market logistics decisions.
b) State the features of rural marketing.

04) Explain the various medias of advertising.

05 ) Write notes (any two)
a)  Supply chain management
b)  Rural marketing
c) Importance of services in marketing
d) Marketing environment

SISIS

[Max. Marks : 80

[16]

[16]

[8]
[8]

[16]

[16]
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Total No. of Questions : 5]

P817
[5158]-1014

F.Y. B.Com.
MARKETING & SALESMANSHIP
(Fundamentals of Marketing)
(2013 Pattern)

(I3 ®UTAR)

g : 3 am] [T T - 80
qgear - 1) @& 997 qisfa Sravas oie.

2) Seiehdior 3k YTl YUt 0T gvifad.

3) deulardt gw Uit 997 Ut g

yoq 1) <~wus fafae ger wee w0 [16]

gyq 2) TWRECR gdq SIUIR U2 T . [16]
e
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gg7 3) 1) fouum s HEed T . [8]
) O Aty @, [8]
feran
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Total No. of Questions : 5] SEAT No. :

P818 [Total No. of Pages : 2

[5158]-1015
F.Y. B.Com.
CONSUMER PROTECTION AND BUSINESS ETHICS

(2013 Pattern)
Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define 'Consumer'. Explain in detail the development of consumer movement
in India. [16]

(02) What is voluntary consumer organization? State the importance of voluntary
consumer organization. [16]

OR
What is consumer education? Explain the objectives of consumer education.[16]

Q3) a) Write a note on : United Nations and consumer protection. [8]
b) Explain the background of Consumer Protection Act, 1986. [8]
OR
a)  Write anote on: Judicial Response to standard form of contract in India.[8]
b) Explain the Nature of Business Ethics. [8]

04) Explain the provisions in Right to Information Act, 2005 under the sections
1,11 and 18. [16]

Q5) Write short notes (any two) [16]
a)  Ethics of Accounting Information
b) Green Initiative
c) Ethics in production
d) Ethical Issues in Human Resource Management.

SISIS



Total No. of Questions : 5]

P818
[5158]-1015
F.Y. B.Com.
UTEeR TILI0T 30T =radTRies Frdged
(201313727?)
(AU TATR)
3e : 3 ara) [TeEoT 7707 - 80
e[ - 1) @& 997 qisfan sravas oie.
2) STHIwEIA 3k T9AT YUl U7 quitdaTa.
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e
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fRen
A) fou T ARATA AT FRRTEAT HEHTd AT afaane. [8]
q)  rEE Hfeare e T w0 [8]
gy 4) W stteeRr e, 2005 uedie wem 1,11 snfor 18 siaia swum=n aiget T
0. [16]
g7 5) fem = (@ 2F) [16]
H) G Hif e
) gd YeER.
*)  SeareATE g,

B) WHA HEYUH SATEAUATIA e Tag.
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Total No. of Questions : 5] SEAT No. :

P819 [Total No. of Pages : 4

[5158]-1016

F.Y.B.Com.

BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80

Instructions to the candidates :
1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define the term Business environment. Describe in detail the types of Business
environment. [16]

02) What is depletion of Natural Resources? Explain in detail the reasons of

Depletion of natural resources. [16]

OR
Explain the concept of Unemployment. Describe in detail the causes and
remedies of Unemployment. [16]
03) a) Write a note on District industries centre (DIC) [8]
b)  Write a detail note on maharashtra centre for entrepreneurship development
(MCED). [8]

OR
a) Explain in detail the habits of Entrepreneurs. [8]
b) Explain the importance of Entrepreneurship. [8]

PT.O.



Q4 ) Describe entrepreneurial career of Dr. Cyrus Poonawala. [16]

Q5) Write short notes (any two) [16]
a) Dynamics of motivation
b) Entrepreneur as a catalyst.
c¢) Local non-Government organisations
d) Narayan R. Murthy

SISIS
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Total No. of Questions : 5]

P819
[5158]-1016
F.Y.B.Com.
BUSINESS ENVIRONMENT AND ENTREPRENEURSHIP
(2013 Pattern)
(A3 ®aTaR)
d : 3 ad] [Tt 79T : 80
geAr :— 1) oo 997 QiEfau srayae g,

2) ITEIHREIA 3k TYATE GUT 70T G
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. [16]

gy 2) SEfiter HEIEETA g TEURA I ? AGfTeh TSIl gl R0l Gt
ferore = [16]

fRen
ST Hehe U1 TI Tl SUSTTRIEN ShRU! & IURERAISHT A eyl 9ui 4.[16]

g7 3) @) Free saw g (DIC) amer v o (8]
) HERTS Sesehal faes hg (MCED) amer afer € fergr. [8]

fehan
) IeNTeRTeAT T wiaEaRau fvTe . [8]

) IeSTehe Uged T . [8]
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Total No. of Questions : 5] SEAT No. :

P820 [Total No. of Pages : 4

[5158] - 1017
F.Y. B.Com.
FOUNDATION COURSE IN COMMERCE

(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80
Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Define the term ‘Proprietor’. Explain in detail the advantages and of Proprietary
Firm. [16]

02) a) Whatare challenges of Globalization before the Indian Public sector?[8]
b) Explain the concept of Franchising. [8]
OR
b) Define Joint Ventures and describe the limitations of Joint Venture.
a) What are main Recommendations of Malhotra Committee?

(Q3) Define the term Ethics? Describe the importance of Ethics in Business. [16]
OR
Describe the role of Trade, Commerce, and Industry.

04) Write Meaning of following terms (any eight) : [16]
a) Entrepreneurship
b) Globalization
c) Bankrates
d) Underwriting
e) Recession
f)  Justin Time
g) Capital intensive
h)  Mutual Funds
1)  Non-performing Assets
) Subsidy

P.T.O.



Q5) Write Short notes (any two)

a)
b)
C)
d)

Corporate Governance
Ethics in Accounts and finance
Types of Cooperative societies

Networking

SISIS)
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Total No. of Questions : 5]
P820 [5158] - 1017
E.Y. B.Com.
FOUNDATION COURSE IN COMMERCE
(2013 Pattern)

(TSt FUTR)
g : 3 @] [Tt 70T - 80

gol~ 1) §d 997 HIStnl STayae ST,
2) ITETRSTA HEk TPATE QUi 0T Fofaard.

gg7 1) ‘Uwhcl AU SR . Ushel SR TR W 3T | T @ [16]

g9 2) 3N) WRATA G- SATYEE ARAehIehiuTe el aTeg w08 &.[8]
q) ‘WEaEERT Heddl T8 &, [8]
feRan
A) Hegn wided qea e aim.
) FIH AEETE HEAT AR ST HYh AgETel HAigl quid .

ggr 3) ‘Ffiuan sarem fogr. sgammm ffms agea auta w5, [16]
feRan
UR, UG ST ITRT YT U8 &

ygq 4) @refa wqren e forgn (Soad sme) [16]
H) IEISTRAT
) NIRRT
®) o
g) IigwElen
3) f@Ewm
®) STE 31 TEH
J) Wigad U=
) THIE WS
@) ffswsa aemm
q) A



g7 5) fem fom (wveard g9) [16]
A) HIUNE g4
) fom enfor @ mefe Fdtan
®) WEHN TEAT TSR

g) Hedafhn
SISIS
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Total No. of Questions : 5] SEAT No. :

P821

Time : 3 Hours]

[Total No. of Pages : 2
[5158] - 1018
E.Y. B.Com.
ADDITIONAL ENGLISH (Regular)
(2013 Pattern)

Text Book : Gems of English Prose and Poetry

Edited By : Ashok Chaskar
Vijay Madge
Anand Kulkarni
[Max. Marks : 60

Instructions to the candidates:

1) All questions are compulsory.

2) Figures to the right indicate full marks.

Q1) Attempt any one from (A) and one from (B) in about 100 words each : [12]

A i)
i)
B) i)
ii)

Examine Vandana Shiva's analysis of the effects of globalization on
Indian farmers.

What does william wordsworth feel about modern civilization.
How does the fortune-teller communicate with his customers?

According to collin legum, how will the urban population explosion
affect rural society?

02) Attempt any one from (A) and one from (B) in about 100 words each : [12]

A) i)
ii)
B) 1
ii)

Why does the narrator in 'My financial Career' vow never to enter a
bank ?

Discuss how the two roads in Robert frost's poem are symbols of
a typical dilemma.

According to J.C. Hill what are the different examples of good
manners?

What is the relevance of Tagore's poem today?

P.T.O.



03) Attempt any one from (A) and one from (B) in about 100 words each : [12]

A i)
i)
B) i)
i)

What difficulties does Ray visualise in creating films that show
contemporary Indian life ?

Summarize the poem "When we two Parted'.

What are the dreams Martin Luther king has for the black people of
his country?

According to whitman, what are the qualities of his gods?

Q4) Attempt any one from (A) and one from (B) in about 100 words each: [12]

A) 1)  Discuss the solutions recommended by Aruna Roy to empower the
disadvantaged sections of society.
1)  Write a critical appreciation of the poem the Lotus'.
B) 1) What does the bell signify to vivekanand and what hope does it
hold for human kind?
1))  Comment on the central theme of the poem 'Father Returning Home'.
05) A) Attempt any one from the following in about 100 words : [6]
1)  Draw up a character sketch of Mangal singh.
i) How does the narrator in 'All the world's a stage record the progress
of human life in terms of seven stages or phases?
B) Attempt any three of the following : [6]
1)  Give synonyms of the following words or expressions:
a) Fragile
b) Dubious
i)  Give antonyms of the following words or expressions :
a) Urban
b) Insanity
i)  Give noun forms of the following words:
a) Compete
b) Reflect
iv) Choose the correct alternative and rewrite

[5158]-1018

a) According to the (Time/fiming/schedule) The building
should be ready to use by the end of the year.

b) The teacher is very in the college (Populated/
Populous/Popular)

SISIS)



Total No. of Questions : 5] SEAT No. :

P822

[Total No. of Pages : 3
[5158]-1019

F.Y.B.Com. (Regular)
MARATHI (¥T3t)
TEEING & IUATNTA St
AITEYEh : 1) J9TTeN
2) SATEREIN & U WIS
(2013 UeH)

des - 3 am|] [T 70T - 60

geAr:—-

1) §d 9v7 qIEfavt smavees 38,
2) STHIwEIA 3k T9AT qUT U7 quitdaTa.

v 1)

yq 2)

WTeiieTdeh! huTeTe! Tkt famarer 500 vreaa Fay foran. [10]
i) i afge Aot (wfer)

ii) SGWUT HEE 9 U

iil) AR STieATd Sehie Hged

iv) aiusteat safur uTt

WA FUTETE T8 T I GAR 20 vegi . [10]
i) i ofitm W] T HuTRvTeEn feuera wm et Sga ?

ii) ST HvTER A9 Gad Hiv ?

iii) <. W ATRa JTe TERR T RV T ST,

iv) ST T ATt I A9 YUt S ShIVTTEAT ST ?

v) @i g faawas an ceme gl et IR S ?

vi) . foea wea I FiveRve T fiereer a2

Vi) STTSR did FiH HIUT e SHRATA 378 ? hid

viii) FaeamE aueTe ar T STe e’ i ST ?

P.T.O.



1X)
X)

X1)

weituT wETeTen At ot et o e
et v fefsrer areh ufdett wen woten mitea S1oa sett gidt e
€. TR Fershvll I YUt ATe T ?

Xii) \fM dgeTeRt TUTSH TS helt Tgrdut et ?

97 3) Eelcidch! SHIUTETE IR Te- ST forat. [20]

1)

ii)

iii)

1v)

Vi)

gvT 4) )

[5158]-1019

Heh IHTH HERTEE, I ARTR A1 AFETha Sohd Teafuss a1 ugret stsieres
.

T Vaehl HETHESTEA YUaTeal hiierardiel S, STgslt @resa 3t 9t Tone
iR snden wfesa faig fgfigm 50,000/ - &. (99 &R €.) hm
TEUA THesTaa arETdt oTst hett 3R, TfereEh fewuft qum .

U WEITETea SgeheTHm fafae wrishn st suan deuta
fereneft ufafashi=ht Freem T Auama seft @ a9 3w o

2T U1 e HUAH e AFHREETS! 20% I AER Fell 372,
TATESHIA HYUTISeh qaR .

HERTEE T TRV THelURaaT HEeTdt (HRI-NIEaT ShITierand i STEuT=
T e 3T HHUTHT HHETAHT TEHUTETS! Thel SUaTd JUTR AT, HIRdaeieh
TR .

WeAcTieh! ShIVTeITE! Ueht 99ATe ST forgt. [S]
i) Tl = wree T g JRuSTETS! Sfehd TR .
ii) YUl AEFRUTCTehath HAgR ATEId A1a TS FUIHgHId WER Hog

AR <hl.
WIlcTteh! ShIVTETE uTe Ut & fotet. [S]
i) Budget ii) Pass-book
ii1)) Cheque 1v) Income Tax
v) Recovery vi) Administration
vii) Hand-bill



97 5)

Wl S IAT=aTel ARG AW . [10]

A man with a small salary is very likely to get into difficulties unless
he learns to "budget" for his monthly spending. A fixed amount should
be set aside under each heading rent, food, clothing, insurance, school-
fees and so on. The ideal budget would also include a fixed sum, no
matter how small to be set apart each month as "saving". In deed this
better be paid into the post office or the bank, and not kept at home,
untill all this has been done, nothing should be spent on luxuries.
Only by such a method can a man live within his income and make

both the ends meet.
fepen

TATEAT s 3ATHE 01 fehat TR fFeaes T91 S0t 3Tt heten 3 31T, 319 TEUTuT==n
THBAA ATEl, TH TEUNEATAT Uiest. gex o uifgea "eR em Uehean fekan
SR WAl UITged STUeATe e R giard gral. Uul cmged delt Sea-gThl
fereR TuEg B, WiaATen O giar iuT gedtel Ikt gid. hered SUHRTH
T TI6] 3T, T HATARHT TN LT 3R, FUHY THNTEA SAHEHETE!,
TS 30T ILIRMETST Thetelt AT HeATdT= SR 3. HATSAAT UTaer=t
TS ATeTd 3THAl, TTea Siedl-l THI UTETd STEdt 30T SheATadiea JEai uTst
foom i sTEdt. TR Auiean B AHESTdA ST ST Jeeheian S 2ot
AT MEAAT 3T, AT JATT HIST AT HeATAAHTE TTAAT TN . HeATdret shedl
& TUISEIST 3112 ; STUT SheTaaraT<ld SIS g1 Haeal STOTgRa o1,

SISIS)
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Total No. of Questions : 4] SEAT No. :

P823

[Total No. of Pages : 3
[5158]-1020
F.Y. B.Com.

e
Jhiedsh (Additional)
(2013 UeA)
uGagEdh 1) T uRee

UTEeh :— B GHIE deteht

2) U uiHe
UTEeh :— . YU detet

. AR

anyg : 3 92 [gorTies: 60
gaqrg :— i) G gvT siHarE g |

ii) gt e fa@ o7 gy & gurfa g |

v 1)

v 2)

FrafeifRaa # @ fFdt @17 geAt & 3w fafam : [15]
i) =afth H SIaEm™ H YA HA TEI B T g e ?

ii) ¥RER GHIE 3 S % Ug ITH i ST SHEARI ol udien fohdt Tehr &t ?
iii) ‘ot 3R e’ gt o mesm | favrea i feafa v auia fifs |

iv) =& Tiied am s @ =i e fif |

v) ‘wiRmer wgrt @ Sevd fefen |

FrafeiRaa # @ fFdt @7 geAt & 3w fafam : [15]

i)  “onein ua s i UET A hEd @7

ii) B SfieR’ hferan w1 wrane T iR |

i) TTSTS WA WO w1 % WEA A HA T FHEA AR 82

iv) ‘Teh AR R amalt’ it | whid 3 HETern Tiaw g8 i U 3T & fore o
g 87

V) OISIAr hiel o HIEAH | Thidl ORI T 1 R 8 7

P.T.O.



gy 3) )

3)

gvg 4) )

[5158]-1020

fraferiga 4 @ ot v sraawon 6t aoey =mem Fifs : [5]
i) S, a8 Welt o A9 Y TE TR | 98 @t g1 [ wiige & fere 2 |
7l qt fom v a3 uEi, frgdt o Tiver & W uear g 1

i) ‘TR, g ARG ot | 3 fom o wR e a=m | qsft | saem A ° R
o |”

FafeiRaa # @ fordt ueh staaon 6t auey s fifm | [5]
i) “<IEa % AEeg 98 e T8, A @
SHH TATA, SHh! a9 7 BITST |
g g S el hi 31U Wk | @
THict U Bel Sk HEehT 7 DI |7
i) g
T ot T frdy
o =i s g @ smem
S| M E YRR ... |7
fraferiiga @ @ TRl e a6 Ueh-Tek are | I o | [5]
i) grR & SHa’ wEF & Tg@ < U % A et |
i) et St FReraeam wgE g g?
iii) I@weRal s HE WECAU U1 HH—HT B2
iv) ‘Ugclt U e o FHEHIBR i 27
v) T g e ol 27
vi) ¥Rdg gReTg i ufa et @ AW faRen |
vii) Tepfd % whidua geeial gaRT i atefieh ¥ shia—a Haw foan 27
viii) “TTETE A AR’ HfAT o hfd w27

frafeiRaa ® @ fordt uta visgl o & witenfues vsg forRaw | [5]
i) Act ii) Advance

111) Bond 1v) Broker

v) Cash vi) Deposit

vii) Duty viii) Finance



am) FrafaRaa @ @ freht v fommam @ seRdes T dam Fifm | [5]

3)

[5158]-1020

i) g @ |igA i ik @ st fommom |
i) WETEE W SATeRdeh fommom |

Frafctitaa ufiess = o fogs @ anerE (HeoD) iR | [5]

‘Hifgea’ 2T € =AUk 31 THETeN Tsh HEM TRaqui vise @ | 9 fava siye
T HAYT aTgeh @ | <91 3R WHIS o S <A1 1@ g | THTST hl 3ATaiNeh 39T <t
T qdur 3 | gondt weeran oiR TEEh o wReres § | fonet T et | wfiet
itk wAETen | @ 2 | wfeea o @ e w@ | furer s <@ s weE |
afigut o AT 2 | |ifged & 3 WA okt off Wehl o ged HeR o ufafesa fen @
| TfEea § Teh ST VIeh 2, T8 3Tid ohl SH &1 Hehal g | I8 Wi 1
T Wi dehdl ¢, 3G9 Tl S99 SH1 Hehel € | SHICT Wiiged ¥ ufier wiw
T TAN hdsd g, & ¢ |

SISIS)



Total No. of Questions : 5] SEAT No. :

P824 [Total No. of Pages : 2

[5158]-1021
F.Y.B.Com. (Regular)
GUJARATI
(2013 Pattern)

Time : 3 Hours] [Max. Marks : 80

W) il 86 ua 2 Ruy w Mn vl [1€]
(1) WRGEL @saf @%ma
) oo\ ofl 23 2l m@m 2 ¢y
(3) 9% Aoyl ol asiensu
() =t WA of Toqchy,

W) A9 Bl Bs uaAl wRad: Guz qu) [1€]
(1) &I o) Q\m AT A ey afugy, Lo
(2)%@@ Qg2 cnm oy (232 20t ®2)

W.3) 5‘1&8 wBL ¥s Usel ¥R G g - [1€]

Ve o oot gan andill oy ygpy el gien)

Rl ag o\ gRicia ot Wb aigal.
nY) (21) golln anl : (46 um Ag)

(1) GO 1Rz ot 38 a1,

2) @i%w ol Thigs sif
Casd 22,

[0¢]

L LI

?r@l

PT.O.



(o) éseila @l @ (S8 ugL i) [o¢]
(1) 12 20T Sleantl sAt Vbl augei.

() 2oy T Sleast) Caed] ang s
wMd) (v) yaluz @doid avil @ (v uel - AAs ag) [0¢]

(1) s o) M\c\})@m asiivl o) @SC—\LJ

@) (MY GoyiT Uiy um\% AQ 8o} Hegaqp)
(3) wl EX o ey NY s
( s &

X) 11
A 2o B
() i ga—na\q\ \\%H 152) 6& @H\S) ) o] v A ol

[o¢]
AR ey @\.qm 51 "
2194, ul LY 2R Ay ) Ay

() ot 224 {y [0¢]
WAL oty
Huy gy WAL 00 g7 8

SISIS
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Total No. of Questions : 4] SEAT No. :

P825

anyg : 3 @2

[Total No. of Pages : 3
[5158]-1022

F.Y. B.Com.
SINDHI DEVNAGIRI
(2013 Pattern)

[qories: 80

Instructions : All questions are compulsory.

gae- 1) gfeaft gaa w & & ge gamat s seng forat [20]

1)

2)

3)

4)

5)

6)

7)

8)

From <t it hrof gerdt g7

A o6 T d BT et g3 7

AT T A BT GiFS g8 ?

urt wit ® B G3?

T Ui @ HeAmoh B o= ?

icftet St AT WIS it |1 higel AT G T3 2

FEER T I | T el TR BUTTA T3 ?

freme Vaem < FE qe

P.T.O.



9) TagRAfrga s foma?

10) @ At UF Geg S 41 B gl?

1]1) <G @ g R el 76 BT T AT 361 8 ?

12) <iEen St R @e e ant fordiesr | o dgstt 9 ?

gara- 1) #eat = it fa Tt gameta s srang fora [20]

1) ogma 3R ufgs T # g6t R ferdt go1 aumn omg ?

2) ‘R AE S H IR fhvHg Reitet St 91w g ?

3) v HEd ‘et U wigen foem uv e enfgfe

4) “3u L, | § e aweEh g @ ige o Higdt Sn R s

gare- 111) ¥feaf =t = fa faft gamets s sweng foran [30]

1) fom St forar Tl s g < oIR8 g ?

2) C“arest, ST H SRSt St foRgR ferdtar aig w7

[5158]-1022 2



3) viaem @ g ek |1 BT O g3 ?

4) fher R o & gern?

gae- V) = fa tg o 7o o - [10]

1) s R

2) SifRd ST BifRd T,

3) wieTEA WA T W § e

SISAS)
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Total No. of Questions :5] SEAT No.

P826

Time : 3 Hours]

[Total No. of Pages :2

[5158]-1023
F.Y.Bcom.
URDU
Urdu General
(2013 Pattern)

[Max. Marks :80

Instructions to the candidates:
1) Attempt all questions.
2)  Figures to the left indicate full marks.
a) Bang-e-Dara Part - 1

b)

(15)

(14)

(15)

(10)

(10)

Mazammen-e-Mujtaba Hussain

-u-'-{dyﬁ'&’i” Wy

-u}d)ﬂ.:;ﬂlrrl?
Ry (RSN P o S Y

L
G S e o S
IR - 10 S
{
e B 5 LUl
Sl LT E Ay
L
21 ,l}lbgéz"&kfuf-)&?
ST L (I
s Ay r AT
SUFE L Wl et S, b33 (e
Sl

PTO.



(16)
WOLB B iF =
o St
JAsiptidtat inif
'mutzu@c-piu’-q-u%
dee QU2 Uz J(f’:}"f
sl b s 2l
s byt B9 L Sl 4t
L Loty 8
c U fre Ul

sty Bt Sie IS
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_ESIEFSTY
Ko folb-2 3Lz

u? e Sty

A sbme dr k526
i re FRAsS
S ¥ it dicq-&f
LA LT
oL bard S
L Lo ]

< FE Sy Uiy
T H AT Ul

Q00O



Total No. of Questions : 5] SEAT No.

P827 [Total No. of Pages :4

[5158]-1024
F.Y.B.Com.
PERSIAN General
(2013 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1) All questions are compulsory.

2)  Figures to the right side indicate full marks.

; @,NC:! E’Y/WEQ_L;A [di:ﬁ!\_ e,')(_()(_,u,‘f)gu,

Cd/mﬁ,/ﬁr\/é) i . I'?__
Jf/&.;‘_bo’:%*l ()‘-9‘9{'(}":..;"
VL i - 4 g o -3
/‘}“;J -6 f'“‘-hj -5
/,pug/* -7
QNo.2 Degine amy Two %méorww? 4
. ,-«*/J s d/;_hf

#ly =% Sor 3
Q Mo~ 3 (A) /Qezfl’wc{»c.& Prip ONE S.Cm;j _
Lan 5%-04«;», O wWesel s Cb d‘—w{,{mwf, E
@wu;u;,.,)_,_/p'hz. (£ Jd’&.«ﬂ..ﬁ
u?‘m_,,ap _ 3
(B) W ade & ang TWo ob The. é—c—ue«x}««g, ’3’

(1) Viewss (B Uwary Wfkw_ S
@) Explovin Utevayyp wevks g ThoMirza,
(3> Explacn poelic aAl” @ Miyza Ghalib.
(&) wrile o nole e Honerr khweyau.
Q:No %  Explare arvp TEN couplels &
Eyﬁ/ﬁ‘,gcx Unioln | Poyadki on gfa’ﬁfqn 2@
oo u“La i Ule dle ()

PTO.
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Total No. of Questions :5] SEAT No. :

P828 [Total No. of Pages :4

[5158]-1025
F.Y.B.Com.
FRENCH (New Course)
(2013 Pattern)

Time : 3 Hours] [Max. Marks :60
Instructions to the candidates:

1)  All questions are compulsory.

2)  Use of dictionary is not allowed.

Q.1. Complétez un dialogue (10)
A. M. Tissot arrive a ’hotel ‘Franche-Comté’. Il a une chambre réservée. 1l a la chambre
300 au troisieme étage. Complétez le dialogue.

M. Tissot :  Bonjour, monsieur. J'ai une chambre réservee ici.
Le réceptionniste :
M. Tissot:  Aunom de M. Tissot.
Le réceptionniste :

M. Tissot :  Elle est a quel ¢tage ?
Le réceptionniste : Voici les clés .
M. Tissot :  Merci. C'est ou ?
Le réceptionniste . Montez au troisieme étage. La chambre
est juste en face de I'ascenseur.
M. Tissot :  D’accord. Et le restaurant, ¢’est ou ?
Le réceptionniste : . En face des escaliers.
ou

B. M. Gérard Perreira va au restaurant ‘Fruits de mer’ avec une collégue. Il demande deux
couverts. Il commande la salade ¢ Césare’ comme entrée et le poulet roti comme plat principal.
Comme dessert, ils prennent une salade de fruits frais. Avec le repas, ils prennent du vin de
Bourgogne et une bouteille d’eau minérale.

M. Perreira : Bonjour monsieur. J'ai une réservation.

Le¢ réceptionniste :
M. Perreira : M. Perreira.
Le réceptionaiste :

PTO.



M. Perreira :

Le réceptionniste :

M. Perreira :

Le réceptionniste :

M. Perreira :

Le réceptionniste:

M. Perreira;

Oui, merci... Vous avez la carte, sl vous plait ?.
9

Oui. Nous allons prendre la salade ‘Césare’ a poulet maring.

Du poulet r6ti avec du riz a I'espagnol.

De la salade de fruits frais. Et comme boisson, deux verres de Bourgogne
et une bouteille d’eau minérale, s’il vous plait.

Q.2. Grammaire et vocabulaire

A. Mettez au pluriel : (2)
1. Il prend le train & Paris.

2. La secrétaire remercie le directeur.

B. Soulignez I’objet direct : 4)
1. Ils aiment les voyages par avion.

2. Vous offrez les cadeaux a votre hote.

3. I’ai commandé ce sac sur ce site.
4. Nous avons acheté ces bottes.

C. Complétez avec des prépositions (2)
1. Vous organisez une conference vos collaborateurs.
2. Vous écrivez vos cocrdonnés un mel.
D. Choisissez la bonne réponse : (2)

1. C’est toujours le salaire net/brut qui est indiqué sur les offres d emploi.
2. Le chiffre d"afTaires, ¢’est le nombre d’employés/le montant total des ventes.

E. Dites vrai ou faux : 3)
1 Le SMIC, c’est le salaire minimum en France.

2. En France, quand on est invité au diner chez des amis, on prepare le repas.

3. Un habitant de I’ Australie est australien.

F. Complétez avec des mots donnés :(cadres, services, entreprise, siege ) 4)
Une grande est organisée en directions et . Son adresse principale est appellée
le social. Les ouvriers, les emplovés, les et les cadres dirigeants sot tous des

salariés de |'entreprise.
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G. Mettez les verbes entre parenthéses au temps indiqué : “4)
1. Diane (prendre — futur) I’avion le 16 décembre.
2. Le directeur général (gérer - présent) I’ensemble des activités de I entreprise.
3 Ladirectrice (finir — futur proche) son travail.
4. Le réceptionniste (faire — passé composé) les réservations.

H. Reliez les deux colonnes 4)
A B.

1. Une agence de a) Le boucher.

2. PME b) Titre de voyage.

3. Une boucherie ¢) Petites et moyennes entreprises.

4. Le billet d) voyage.

Q3. A. Ecrivez en forme de paragraphe (5)

Voici ’organigramme de I’entreprise NOFISA.

Directeur Commercial - M. Gerard Marchandeau

Assistante = Myriam Beauchais

| | I
Responsable des Responsable Responsable de

ventes - Yvonne Vo Tran marketting- Eric Gomez | adm|n|strattor! -
ventes - Paul Pinet

7 attach.es 2 chefs de produits 3 assistantos
commerciaux

ou
B. Décrivez le processus de fabrication du jus de pommes.
[. Presser les pommes.
2. Mélanger le jus concentré avec du sucre et de |"eau.
3. Nettoyer les bouteilles dans une machine spéciale.
4. Mettre le jus dans les boutetiles.
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5. Mettre les bouteilles dans des cartons pour envoyer chez des distributeurs.
Q4. A, Traduisez en anglais: 5)

La journaliste : Bonjour et bienvenue dans notre émission sur les petites et moyennes
entreprises. Aujourd’hui, nous recevons Jean-Marc Tissot, directeur général de la société La
Provengale. Jean- Marc Tissot, bonjour !

Jean-Marc Tissot : Bonjour !

La journaliste : Tout d’abord. quel est I historique de votre société ?

Jean-Marec Tissot : La société Provencale a éte créée en 1963 par mon grand-pere. En 1988, elle
a rejoint le groupe Auréa. leader européen dans le domaine des produits d’hygiene.

B. Traduisez en frangais: (5 au choix) (10)
1. The personnel must respect the security instructions.

2. First, one mixes the vegetable oil.

3. She is a very professional.

4. My mother ordered shoes on this site.

5. These chocolates a made of green tea.

6. Do you want something else?

Q.5. Compréhension
Les espadrilles sont des chaussures d’origine basque, une région au sud-ouest de la

France, Nés en 1890, ces chaussures sont aujourd’hui de nouveau a la mode parce que deux
amis, Mathieu Labat et Julien Maisonnave, ages de 36 et 37 ans, ont eu !'idée de creer des
modeles modemnes.

A. Dites vrai ou faux : 4)

l. Les espadrilles ont d origine basque.

2. Larégion basque se trouve au sud-est de la France.

3. Les espadniles sont des chaussurss.

4. Deux amis ont eu |'idée de créer des modeles modemes.

B. Donnez le contraire : nouveau, sud (1)

Q00O
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Total No. of Questions :5] SEAT N
0.:

P829 [Total No. of Pages :3

[5158]-1026
F.Y.Bcom.
GERMAN

(2013 Pattern) (Regular)

Time : 3 Hours]
Instructions to the candidates:
1) All questions are compulsory.

2) 115 0 Marks are for Reading Compreshension and 10 Marks for Oral
xam.

[Max. Marks :80

Frage I Beantworten Sie die folgenden Fragen ! (nur zehn) 10

Was machen Sie sonntags?

Um wieviel Uhr steht Thre Mutter auf?

Nennen Sie zwei Nachbarlander von Deutschland !
Wie finden Sie Deutsch?

Ihre Freundin hat Hochzeit. Was wiinschen Sie ihr?
Welchen Beruf méchten Sie wihlen?

Was haben Sie als Kind am liebsten gegessen?
Was sieht man auf einem Bahnhof?

. Nennen Sie zwei Gropstidte in Deutschland!

10. Was darf man im Unterricht nicht machen?

11. In welchem Monat feiert man Weihnachten?

12. Was soll man fiir eine Reise mitnehmen?

00N O LA W

Frage IL. Ubersetzung [10]

A) Ubersetzen Sie ins Englische ! (06)

Unsere Stadt ist nicht viel grop,aber ist siebenhundert Jahre alt und schon. Sie gefillt vielen
Besuchern. Seit 1477 hat die Stadt eine Universitét. Dort studieren heute ungefihr achttausend
Studenten. Viele kommen aus dem Ausland,auch aus Afrika und Asien. So ist das Leben hier
sehr interessant, Leider hat die Stadt nicht genug Zimmer fiir alle Studenten. Viele wohnen nicht
hier, sondern kommen mit dem Zug oder mit dem Auto. Natiirlich haben wir hier auch Geschifte
, Kinos, Theater und Parks..Aber Industrie ? Nein, eigentlich nicht viel. Deshalb ist die Stadt viel
ruhig und die Luft ist frisch.

(B) Ubersetzen Sie ins Deutsche! (Nur 4) (04)

I am coming in ten minutes.
Today is Thursday.
We have bought four lamps.
Do you have a dog?

E RS
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5. The children can swim very well.
6. A reporter needs a mobile.

Frage III. Grammatik!

A. Erginzen Sie die Personalpronomen! (Nur 3)

1 Wo sind die Regenschirme? mdchte ich mitnehmen.
2 Der Kiihlschrank ist zu grof. Wir brauchen nicht.

3 Unser Englischlehrer begiipt ('wir ) mit Hallo.

4  Woher kommen ,Frau Merkel?

B. Erginzen Sie die Possessivpronomen! (Nur 3)

Sie liebt Puppe sehr.
Franz kommt aus Polen, Frau kommt aus Japan .

1.
2.
3. Wir machen eine Reise nach Berlin. Klassenlehrer kommt nicht mit..
4,

Wann ist denn Hochzeit, Petra und Peter?

¢. Erginzen Sie richtige bestimmte oder unbestimmte Artikeln! (Nur 3)

1. Warum schimpft Fahrer? st er bose ?
2. Leider habeich __ Fernseher zu Hause.

3. Linda kauft _ Segelboot.

4, Pensel hat Schlangen.

D. Schreiben Sie das richtige Modalverb! (Nur 3)
I du gegen 20 Uhr mich anrufen?

2. Das ist ein Museum. Hier man nicht fotografieren.
3. Die Temparatur ist minus zehn. Ich unbedingt meine Winterjacke tragen.
4. Nehmen Sie Platz, Herr und Frau Noll! Was Sie essen

E. Erginzen Sie die richtige Priiposition! (Nur 3)

1. Der Mantel hdngt ___ der Tir.

2. Abdul Kalam kam ___ Tamilnadu.

3. Gehst du heute dem Bahnhof ?

4. Die Touristen sprechen den Studenten.

F. Schreiben Sie die folgenden Siitze im Perfekt! (Nur 3)
Ich besuche meine Tante mit meinem Freund..

Um 7.30 Uhr zieht Stefan seinen Sohn an.

Warum nimmst du mein Handy ?

Die Kinder stellen ihre Biicher ins Regal.

Notiert ihr den Stundenplan?

e
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G. Schreiben Sie das richtige Verb! (Nur 3) (03)

(untersuchen, mitkommen,stecken,aufmachen, abschliefen, )

1. du bitte die Tiir .
2. Herbert die Kreditkarte in die Tasche.
3. Um 5.00 Uhr mein Chef das Biiro .
4. Die Arztin das Unfallopfer.
H. Bilden Sie Fragen! (Nur 3) (03)
1. Der Student fragt seinen Professor.
2. Rafael fliegt nach Jugoslawien.
3. Sie mochten gern einen Kaffee trinken.
4. Der Mantel kostet 65 Euro.
Frage IV. Wortschatz (10)
A. Schreiben Sie die Gegenteile! (02)
1. obenX
2. einschlafen X
A. Was passt nicht? (02)

1. schreiben :den Brief/ den Freund / die Notiz / das Buch
2. trinken : den Kaffee / den Saft / das Mineralwasser / die Suppe
3. ausmachen : die Kinder / das Licht / den Computer / das Radio
4. fiittern : den Fisch / die Katze / das Baby / das Klavier
C Ordnen Sie das Gespriich ! (06)
¢ Und wann kommt er hier an ?
e Oh! Ist der Zug heute nicht piinktlich ?
o Entschuldigung. Ich mdchte nach Wuppertal.Bin ich hier richtig auf dem

Bahnsteig 9?7
o Heute ist die Ankunft um 18.40 Uhr.
¢ Nein, leider nicht. Der hat 10 Minuten Verspétung.
o Jaklar. Thr Zug fahrt auf Gleis 9.

Frage V: Schreiben Sie eine Ansichtskarte und einen Zettel/ eine SMS! [6]

(A) Sie sind auf eine Reise in Goa. Schreiben Sie eine Ansichtskarte an Thren Freund/  (04)
Ihre Freundin! Thr Freund/Ihre Freundin wohnt in Franfurt am Main.

(B) Schreiben Sie einen Zettel ODER eine SMS fiirClaudia. Sie mochte mit Thnen (02)
ins Restaurant gehen. Heute Abend haben Sie keine Zeit. Passt es morgen um
20.00 Uhr?

Q00O
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Total No. of Questions : 5] SEAT No. :

P830 [5158]-1027 [Total No. of Pages : 3

F.Y. B.Com. (Regular)
SANSKRIT

Amarbharati s RARA
(2013 Pattern)

dez: 3 @ | [ BT 7707 - 60
Instruction to the condidates:

1) All questions are compulsory.

2)  Figures to the right indicate full marks.

gy7 1) Translate into English or Marathi any one from section 'A' and any

one from Section 'B' from the following. [12]
gEetaeht ‘3 fawmTdier RivTETEdt T @ T faunTter SivreTdt TRt

SECTION - 'A' faumr - ‘o’
i) T - (Wgew) wed | s ghat gy
Td~d arfer: | qen 2
I Ak g AN W atggerdt
Ted fafes~ wafa FagumtiE @)
THeAT Agsh aqfd ARG TS
3 7 R Ferfoareromfy 7 drve teemEma||

1) @& TERTA FHLET USa AT TR IR | T TaEehT kv Ted
YU TR S godd aegedl AGadiiuaTg — 9t afg 79T 9 TR
wEfy afs | AHfied WA |

Hissreia Ward Ua hieny |
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SECTION - 'B' faumr - ‘|’
1) s e e
T fewen T gy |
T e SreRy w13

e 4 Fopd 7 g = 1

i) Y Y aEREEATEITEHTAT R
TAEYTEE T TURIEATIE He |
at-gegadt g 3fd ag-emtteasmR et
TS GEUTGERT WA |ed qewem: W ||

wy7 2) Explain with reference to context any one from section 'A' and any

one from section 'B'. [12]
‘a1’ fauTTT e SRIvTeTe! Tt @ ‘A faI 9T teT ShIvTeaTg! UehTet TEaH TUseRiuT
.

SECTION - 'A' fgum - ‘o’
i) qfual arod aE qesg a9 gviATd |
il) creTUeaweae: MFEHegE a1 favaauea™ Fearagaemta™ wrEd|

SECTION - 'B' fawrmt - ‘&’

1) SaeTCATahehTIN FEIHE S AT |

il) fomm q@ wister aerfa fem |
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737 3)

797 4)

797 5)

Write the summary of the lesson “Tosneaa:’
“TTorTeEa:’ gTeTeT ARt foTaT.
OR /feran

Write the ‘giitgemiemeren’ in your own words.

‘TTigameAwaT:” qaA et forar.

Write the summary of the lesson ‘wgggm:’
‘Hgggm:’ 9t ureren AR g

OR /Teran
Write the summary of the lesson ‘“suurgrs:’
“BUUTET: AT UTSTAT WY foTar.

Write short notes of the following. (any two)
WTATeTdeh! ShIVTETE SIEiaR efsara Siar ferar.

i) ohifeeanedymET

i) weefaafiuft gem

iil) wRfermt

iv) aTeRaTeEE

Q00O
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Total No. of Questions :5] SEAT No.

P831 [Total No. of Pages :4

[5158]-1028
F.Y.B.Com.
ARABIC - GENERAL -1
(2013 Pattern)

Time : 3 Hours] [Max. Marks :80
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Total No. of Questions :5] SEAT No.

P832 [Total No. of Pages : 2

[5158]-1029

F.Y.B.Com.
FOUNDATION COURSE (Restructuring)

(2013 Pattern)

Time : 3 Hours] [Max. Marks :80
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) What are the causes of poverty in India? Suggest measures to eradicate

poverty. [16]
02) Whatis unemployment? State and explain the various types of unemployment
in India. [16]

OR
What is society? State and explain the characteristics of Indian society. [16]
03) a) What is the importance of industries in Indian economy? [8]
b) What are the characteristics of science? [8]

OR

a) Explain the concept of Globalization, Liberalization and Privatization.|8]
b) Whatis Decision making? Explain the process of Decision making? [8]

04) What are the various obstacles in achieving the goal of National Integration in
India? Suggest measures to remove obstacles. [16]

05) Write note on any two of the following: [16]
a) Self Employment.
b) Planning of life at various stages.
c) National and social values.
d) Time management.

Q00O
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Total No. of Questions : 5]

P832
[5158]-1029
F.Y.B.Com.
qrATHA ATATHEHA  (gHAI)
(2013 Pattern)
(Wt wuTaR)
dz: 3 ara | [ TzoT 7707 - 80

e :- 1) @d 97 qISlav sravas e,

2) IwEIESier s gl qor Fifaara.
3) @eutarst sust TvIaAeT UETa.

g7 1)

97 2)

7957 3)

g7 4)

797 5)

WRATATE TR TR0 vt ? givga FHarumardt sura geer. [16]

TR TEUI 1T ? WRATA A s fafay ger anm s wa. [16]

e
THTS U 1T ? AR T Sfmss 9nE g o, [16]
) YR Tfeawdd ITNTUCAT Heed hidl 312, [8]
9) fommT=h Gforesr wrord ? 8]
e
) WATTeRIeRTUT SESIUT & WIHIERIUT IT HehoUAT T o, [8]

) fAota 9ot o w? (FRotaufear). Rt auarst gfwan e w0, [8]

HRATAA WG THTHAT AT FHUATATE TATIel TS HhivTd ? HSAS T FUATATS

3T g, [16]
@ttt FrorETdt dEer fon fora. [16]
)  TEEUSIR

) fafay careda e Faem.
*) UL 9 AHINS Tod.

) dBIY AT,
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Total No. of Questions :4] SEAT No.

P833 [Total No. of Pages : 2
[5158]-1030
F.Y.B.Com.(Vocational Course)
COMPUTER APPLICATIONS - 1
(2013 Pattern) (Theory)
Time : 2 Hours] [Max. Marks :40

Instructions to the candidates:

1) Draw a neat-labeled diagram wherever necessary.
2)  Figure to the right indicate full marks.

Q1) Answer the following: (any five) [10]
a) Printer
b) Paint Brush
c) ROM
d) Operating system
e) DTP
f) BCD
g) Octal
02) Answer the following: (any two) [10]
a) Explain any two applications of computer.
b) What is secondary storage?
c) Whatis keyboard? Explain functionality of keyboard.

PTO.



03) Solve the following:

a)

b)

c)

d)

Convert from Binary to Decimal:

(10111),=(),,

Convert from Binary to Octal:
(1010111),= (),

Binary Addition:
10101 + 1111

Binary subtraction:
10111-1011

Binary Multiplication:
101011 * 10

04) Answer the following:

What is operating system? What are the functions of operating system?
OR
What is the difference between Ms-Word an Ms-Excel?

Q00O
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Total No. of Questions :4] SEAT No.

P834 [Total No. of Pages : 1

[5158]-1031
F.Y.B.Com. (Vocational)
ADVERTISING, SALES PROMOTION & SALES
MANAGEMENT
Marketing Communication (Paper - I)
(2013 Pattern)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Define Marketing and Discuss the Approaches to Marketing. [10]
OR
Define marketing and explain the concept of marketing communication process.

02) What is sales promotion? Discuss the need and importance of sales
promotion. [10]

OR
Explain the concept of event Management and discuss the types of event.

03) Explain the meaning and importance of communication skills. [10]
OR
What do you mean by public Relations? Explain its types.

04) Write short notes (any two) [10]
a) Means of communications.
b) Multi-level marketing.
c) E Marketing.
d) Direct Marketing

Q00O



Total No. of Questions :4] SEAT No.

P835 [Total No. of Pages : 1

[5158]-1032
F.Y.B.Com.
TAX PROCEDURE AND PRACTICES (Vocational)
MVAT 2002 And Central Sales Tax
(2013 Pattern) (Paper - II)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figure on right indicate marks.

Q1) Answer in 20 words each. (any five) [10]

a) Explain the term 'Business' under M.VAT?

b) Define the term '"Taxable goods' and 'Tax free goods'.
c) Who is called 'Tmporter dealer'?

d) What is mean by 'Appropriate state'?

e) What is mean by 'Declare Good's under C.S.T?

f)  Explain the rate of tax on packing material?

g)  What is mean by "Tax Invoice'?

02) Answer in 50 words each. (any two) [8]
a) Enumerate and discuss threshold limits of turnover under M.VAT. Act?
b) What is mean by sales in the course of inter state trade or commerce?
c) What are the authorities appointed under M. VAT Act?
d) Who is called 'Dealer' under C.S.T. Act?

03) Answer in 150 words each. (any two) [10]
a) Discuss advantages of 'Registration' under M.VAT Act 2002.
b) Explain constitutional background of enactment of central sales Tax Act

19567
c) What is mean by "Turnover'? How is it determined under C.S.T. Act
1956.
d) What is mean by 'Audit'? What are the types of 'Audit' under M.VAT
Act 2002.
04) Answer in brief (any one) [12]
a) Explain and discuss the provisions for levy of tax under M.VAT. Act
2002.

b) Explain and discuss various form's and their use under C.S.T. Act 1956.

QOO0
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[5158]-1033
F.Y.B.Com.
COMPUTER APPLICATION - II (Vocational)
(2013 Pattern) (Paper - II)
Time : 2 Hours] [Max. Marks :40

Instructions to the candidates:
1) All questions are compulsory.

2)  Figures to the right indicate full marks.
Q1) Answer the following. (any five) [20]
a) Explain do while loop with syntax and example.
b) Whatis array? Explain.
c) Whatis the use of Relational operators? Explain with example.
d) Whatis variable? State the rules for defining variable name.
e) Explain getchar () and printf () functions.
f)  Explain briefly the following Data Types used in 'C'
i)  Float
ii) Char
g) Explain the terms:
i)  Assembly Language
i) Flowchart.
02) Write a program to solve following: (any two) [10]
a)  Write a program to find whether the number is positive or negative.
b) Write a program to calculate area of circle.
c) Write a program to display multiplication table of a number.
03) Find the output: (any two) [10]
a) #include <stdio.h>
void main ()
{
char s[20];
s="WELCOME";

printf("String=:%",strrev(s));

}



b) void mian ()

{
Int no, ans;
no=>3;
ans=no*no;
Printf(" Answer=%d" ,ans);
J
c) void mian()
{
float a,b,c;
a=12.4; b=9.2;
if (a<b)
printf(" Smallest Number is = %.2f" ,a);
else
printf ("Smallest Number =%.2{",b);
J

QOO0
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[5158]-1034
F.Y.B.Com.(Vocational)
ADVERTISING, SALES PROMOTION AND SALES
MANAGEMENT (Paper - II)

(2013 Pattern)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figure to the right indicate full marks.

Q1) What do you mean by advertising? Explain the scope and importance of

advertising. [10]
OR

Explain the advantages of advertising to the manufacturers', Customers and

society.

02) What is an advertising budget? Discuss the methods Advertising Budget.[10]
OR
Define advertising and discuss the different functions of advertising..

03) What do you mean by rural advertising? Discuss the difficulties faced in rural
advertising. [10]

OR
What is advertising layout? Explain the essentials of good Advertising layout.

Q4) Write shorts notes (any two) [10]
a) Careers avenues in marketing and advertising.
b) Advertising standards council of India.
c) Ethical aspects in advertising.
d) Appealsused in advertising.

Q00O
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[5158]-1035
F.Y.B.Com. (Vocational)
TAX PROCEDURES AND PRACTICES
INDIAN TAX SYSTEM & INCOME TAX
(2013 Pattern)

Time : 2 Hours] [Max. Marks :40
Instructions to the candidates:

1)  All questions are compulsory.

2)  Figure to the right indicate full marks.

Q1) Answer in 20 words each (any five) [10]

a)  Write down any four examples of Direct Taxes.
b) What is meant by 'Previous year'?

c) What is the meaning of 'Direct Taxes?

d) Explain Article 265 of the constitution of India.

e) Write down constitutional validity of Income Tax?
f)  What is the Nature of Income Tax?

g) Define the term ' Total Income or Net Income.

02) Answer in 50 words each (any two) [8]
a) What are the advantages of 'Direct Taxe's?
b) Define 'Income" u/s 2 (24) of Income Tax act, 1961.
c) Explain consolidated fund of India' & 'Consolidated fund of the state'.
d) Write down short note on Article 280 of the constitution of India.

03) Answer in 150 words each (any two) [10]
a) Explain in brief 'canons of taxation advocated by Adam Smith?
b) What are the various characteristics of Direct Taxes?

c) Explain Provisions regarding Deductions u/s 80 u of Income tax act
1961.

d) How do calculate 'value of Rent free Accommodation' under Income
Tax Act 1961.



04) Answer in 500 words. (any one) [12]

a)  Write the various Articles which gives power to Central Government for
distribution of revenue between central & State Government.

OR

b) Mr. Prakash an Employee of ABC Pvt. Ltd. Furnishing his details of
Income as follows:

[5158]-1035

Basic salary ¥ 60,000/- per month.
Dearness allowance % 28,000/- per month.
Transport allowance received by him ¥1500/- per month

House rent allowance received by him ¥18,000/- per month, rent
paid by him Z13000/- per month

Hostel Allowance received by him ¥ 450/- per month per child for 2
children.

Education Allowance received by him X 250/- per month per child
for 2 children.

Commission Received by him X 6500/- per month.

Employers contribution to provident fund is 15% of basic salary.
Interest on provident fund @ 12% % 24,000/-

Life Insurance premium X 3000/- per month.

Profession Tax % 25,00/- per annum.

Compute the taxable salary of Mr. Prakash for Assessment year
2017-2018

Q00O
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